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Do not slaughter the nep while the y»n still exists

OVERVIEW
X217 maintains that we derive the ynn 210°% on 72vn?1 nww wwn 9"y from the
'>109 of *mar o7 yan Yy vawn 89, We interpret it to mean, you are not to be
vmw the nod 1272 while there is y717 in your possession. The 109 127p 1s UAW2
after mxn (which is 0»27v7 1°2); this means that after (77¥n21 Myw wwn) NXn
there should be no y»m in your possession. N1BOIN comments on the fact
whether the 705 may be vnwl immediately after mxn.
*

mooIn asks:

— NYYNTY MYV /19 NON NINT NXINN 999 %250 DNIAN )2 PWNY %39 NYPN
The X'"2w4 has a difficulty; how can we derive from the ?05 of vnwn X

"1 that y»n is forbidden after six hours have passed on nos 27 -
— 5509 MYN 2399 WVAYY PR 90 PRND NN NDON NVINY % M

But the time for noon nunw is after they brought the 1°2 Y 7°»n 1277

0>°27v7, and if the afternoon 79%n was slaughtered before noon it is »op -
— 50 NAIPN HVAY 2T 1Y MSN NN 1919 M1 KXY NVINY )31 19 ON)

So therefore the time of 1057 nu W is not immediately after nixn but

rather it is after the time necessary to bring the 752n 72992 The question is that
since the 1Moo cannot be brought until after the 7»n, the y»n Mo°X should not begin
immediately after nxm, but rather after NMxn plus the time it takes to bring the 7°nn; that is
when the y71 M0°X should begin.

n90IN answers:
—*onn PNTI YD RN NP NDIN LAY DN Ta¥>TT 1199 91217 W

And one can say; that since if he went ahead and was vmw the nop 1279
(immediately after n1¥r7) before the 7920, the noo 127p is "w>2, as we learnt

there in a /1wmn, therefore -
799N NN NVINY Pt 2PYUN

The time of 1057 nunw is considered from nNXn onwards. The ynn MoK
begins therefore immediately after N1¥m, when the 10D 127p is 72¥°72 W2.

19,72 (xwn) mnw.
2 3,m1 0.
7 X,X0 19pY. See “‘Thinking it over’.
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SUMMARY
The noo7 NV nWw 147 is considered from NMXN onwards since 72¥°72 if the nod

was vl before the 7°n0 it 1s W2.

THINKING IT OVER
What would the 7°7 be if the m12% did not have a 7°n 127p; when would be

the ya1 of (7%°11n2%) noD 127P NAPR?
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